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SUMMATIVE ASSESSMENT -1, 2013
e/ MATHEMATICS

el - X/ Class - X

Freifta aw : 3902 ferehan 34 : 90
Time Allowed : 3 hours Maximum Marks : 90
arr fraet :

General Instructions:

Tty erframe €1

All questions are compulsory.

WA T H 34 7 F, 9 AR @vEl o, @, a9 g { A TR @us-d H 11 HE F 8
Sgfaswedta yed € @ue-a H 6 ¥ ¥ o w2 3w €, @ug-w H 10 799 € 5 W@w &
3 37k ¢ A1 WUS-g A 10 W € o weieh o 4 39 €|

The question paper consists of 34 questions divided into four sections A, B, C and D. Section-
A comprises of 8 multiple choice questions of 1 mark each; Section-B comprises of 6

questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-
D comprises of 11 questions of 4 marks each.

TG 9 9§ FE fawmey & &)

There is no overall choice in this question paper

FeAFeIet 1 YA afeid g

Use of calculator is not permitted.

@ue-3H / SECTION - A

UFT WEAT 1 |/ 8 7k U Uv 1 3 F T
Question numbers 1 to 8 carry 1 mark each.

T Bl § BRI ¥ YU S 20 qA 24 faswsm &), 1
(A) 240 (B) 480 (€ 120 (D) 960

The least positive integer divisible by 20 and 24 is :

(A) 240 (B) 480 © 120 (D) 960



2 653117 F HCF R A 65mM—117 F T TR fFaT N TFAM S A m BT AA 1

{a) 4 (b) 2 {c) 11 (d) 3
If the HCF of 65 and 117 is expressible in the form 65m — 117, then the vaiue of m is :
(a) 4 (b) 2 (c) 11 {d) 3
3 IS TEIR p(x) = (k2—14) x2—2x—4 F LIH H A1 8, K FTHAA T : 1
(A) =41 (B) 4 © =2 D)y =9
If the sum of the zeroes of the polynomial p(x) = (k2 —14) x2—2x —4 is 1, then the value of k is :
(A) =18 (B) =4 © =2 D) =9
4 TRt y=0 3y = -5 (¥) T (F) : 1 2 )
(a) T &l
b) AT
()  TuRfad ®9 9 o 7
(d) 8 T T
The pair of equations y=0and y= — 5 has.
(a) One solution
(b) Two solutions
{c) Infinitely many solutions
(d) No solution
5 T Fragys & fawol 24 cm 332 em €1 TR & oY ofe =t | © 1
(a) 12 cm (b) 12.8 cm(c) 19cm (d) 19.2cm
The lengths of the diagonals of a rhombus are 24 cm and 32 cm. The length of the altitude of the
rhombus is : B
{a) 12cm (b) 12.8 cm(c) 19cm (d) 19.2cm
6 $in35° + tan35° IR ¥ 1
(A)  cos35°+cot35° (B)  cos35°+sec35°
(G  cos55°+cot55° (D)  cos55°+ tan55°
sin35° + tan35° is equal to :
(A)  cos35°+cot35° (B)  cos35°+sec35°
(©  cosb5°+cot55° (D)  cos55°+ tan55°
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(4 - % )ammi:
L sin -0 tan 28 J
a I B 1
4
€ 4 (o) -4
{ 4 4 N .
- lto:
Lsin20 tan’ J o equarto
(A = B 1
4
() 4 (D) -4
e & § o1 @ fordl 927 it S ygfa wag AR R 2
(A) TR (B) HIYgH (C) &g (D) w&A
Which of the following is not a measure of central tendency in a distribution ?
(A)  Range (B) Median (©  Mode (D) Mean

@ueg-q/SECTION - B

U9 HEAT 9 |/ 14 Teh Wkeh WY 2 371 T ¥ |
Question numbers 9 to 14 carry 2 marks each.

STEAT hiTS1T fof 3 x 5x 7+ 7 T 9T H&AT (composite number) 71
Explain why 3 X5 X7+7 is a composite number.

qﬁaﬁﬂTBﬁEﬁxZ—4x+lﬁ?W§,?ﬁ%+ %-—aﬂ 1 W I FR
If @ and B are zeroes of x2—4x+1, then find the value of L ;——aﬁ.

IfE FGIS x* +a 1 T YEH —3 B, T SUBT 79 YF T1d g |

If one zero of the polynomial x*+a is —3 then find its other zero.

Ig T 7 ® fF AABC ~ APQR 3R QR=3 BC ¥1 (APRQ) 3R (A BCA) F &=whall w1 UK &I
i

It is given that AABC ~ APQR with QR =3 BC. Find the ratio of ar(APRQ) to ar(A BCA).

N



13 g cos (A+B)=0 T sin (A—B) =1 & 1 A, B=7 HIUI & & A 71 B % W F HHC 2
2

If cos (A+B)=0and sin (A—-B) = L, then find the value of A and B where A and B are acute
2

angles.
14 et Aot s e o 500 faenfial & il & g9t aRera s faan g : 2
T : 109 FT (200 FF (30T FH (409 FT |50FFH | 60T FH
ferenferay
P 50 130 270 440 500

ST JHE! T Th TRSRAT A TAET |

The following table shows the cumulative frequency distribution of marks of 500 students in an

examination :
Marks: | below below below below below below
No. of]
students :| 10 50 130 270 440 500

Construct a frequency distribution table for the above data.

@ug-¥/SECTION - C

U9 HEAT 15 | 24 A% WAH U9 3 3k wr E |
Question numbers 15 to 24 carry 3 marks each.

15 fog T R 3+ 5 T 3afiag e 1 3

Prove that3 + «/; is an irrational number.

16 g & Wt fafy § 9| ST F @@ g =2 +x+3 TBIR fix)=x*+x—2¢ —4x+16 FT TH 3

THETE B |

Find whether the polynomial g(x) =x*+x+ 3 is a factor of the polynomial f(x) =x*+ x> — 2x* — 4x+ 16,
by division method.

17 @ wie o w7 Fr= Yas oo 70 &1 & T ' B Ak @ @ 9% w@ W@ 3
aﬁﬁrq :
7x— 4y=49; 5x— 6y= 57
Find whether the following pair of linear equations has a unique solution, if yes, find the
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solution.
7x— 4y=49; 5x— 6y= 57

M o T B T Fgom R ° —x— 6 % I €, @ € 5o YU T HINC f99SH I (a+B)
g { L+ 1§

OO
If « and B are the zeroes of the quadratic polynomial x’—x—6, find a quadratic polynomial

whose zeroes are («+ ) and {% + %J .

Tz & afg ) wuey fs & dwa w9r € @ 7 B watmem 2 )

Show that if the areas of two similar triangles are equal, they are congruent.

: . . AD _1
AABC H D 3R E ol 4STIsH AB 3R AC R f5ig 30 ¥R ? fF pelBc §1 Al =—= —siRAE=1.2
DB 2
cm 1 T EC G ar(AADE) : ar(AABC) ST hifeTC |
AD _ 1
In A ABC, D and E are points on sides AB and AC respectively such that DE||BC. If —= —and AE=1.2
DB 2

cm, find EC and ar (A ADE) : ar (A ABC)

in® — 0 2 _ .2
qﬁ(tant):VI;ﬁmWﬁ asin®~ bcos® _a’~ b

asin®+ bcos® a2+ p2

asin® — bcos® _ al-b?

Iftan9=f/ prove that .
b’ asind®+ bcos® 2+ p?

Preptorfirdta miererien & wam fam | 9w

3 cos43’ 2_ c0s37° cosec53°
( sin47° J tan5° tan25° tan45° tan65° tan85°
Without using trigonometric tables, evaluate :

3 cos4a3’ 2_ cos37° cosec53°
( sin47° ) tan5° tan25° tan45° tan65° tan85°

i1 Tame fafy & wam 9 f= 9129 1 7189 91d i
1 20-30 |30-40 [40-50 |50-60 |60-70

SRERdt: |25 40 42 33 10
Find the mean of the following distribution using step deviation method :
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Class : 20-30 [30-40 |40-50 [50-60 |60-70
Frequency: |25 40 42 33 10
=1 sflemel 1 HIeTsh I i
Eol TRERA
130-140 |5
140-150 9
150 -160 |17
160-170 | 28
170-180 |24
180-190 |10 3\\
190-200 |7
Find the median for the following data :
Classes Frequency
130-140 |5
140-150 |9
150 -160 |17
160 -170 |28
170-180 |24
180-190 |10
190-200 |7
Qug-§/SECTION - D
YA WEAT 25 | 34 Tk Uih WY 4 3Heh! & T &

Question numbers 25 to 34 carry 4 marks each.

T WIHR) T 3 e faenfeld 1 wfor =6t 28 fs oo, @iga =t 16 fim g&a g wmnfss 91 4
12 e e < A 9idt 1 af g faenef ) suwl w9 F sgur wF foawa w5t sifus @ sty

T < T 991 Yok Tl sl wue dem # g < T E A
@@ 1 HIST fF v el w1 feat geash et
(b) T Hife fop T ferenfafal = gk fireft

()  TEU GHIS 1 1 €9 g3 7

A charitable trust donates 28 different books of Maths, 16 different books of Science and 12
different books of Social Science to the poor students. Each student is given maximum
number of books of only one subject of their interest and each student got equal number of




books.

(@) Find the numbers of books each student got.

(b) Find the total number of students who got books.
(0) How it helps our society ?

26 FgE flx) =2x" —3x°— 9x* + 15x — 5 & Wl YIF T HIC AfE 30F A YxHR 6 ;M —~ 5§14
Find all the zeroes of the polynomial f{x) =2x"—3x’—9x*+15x -5 if two of its zeroes are 5

and~\/&—'>_‘

27 o P ¥ afw X A A -3 oY W e L& st 21 3 siw qen A H A~ s
11
e @ e 2 81 st 81 fis 3 e
6

A fraction becomes i, if 2 is added to both its numerator and the denominator. If 3 is added
11

to both its numerator and the denominator, it becomes 5 . Find the fraction.
6

28 Teh GHHIU AT T 01 25 cm & 3R 99 < yyomsil § A T 0@ A5 cm o T g T omedi 4
HI AR TG HISC

Hypotenuse of a right triangle is 25 cm and out of the remaining two sides, one is longer than the
other by 5 cm. Find the lengths of the other two sides.

29 ABC T H&IW f1ye & 590" B W @9aivl § a1 D, ¥ BC &1 °e7 foig %1 fag #ifvw &7 4
AC?=4AD’-3AB’
AABC is right angled at B and D is the midpoint of BC. Prove that AC’=4AD’—3AB’

30 inA A ' q
g fe: A cosh
secA t tanA — 1 cosecA T cotA — 1
sinA A
Show that: + cos =1

secA t tanA — 1 cosecA T cotA — 1

+ .
3 afztana=2 e tanB=1 %, & GF tan (A+B)= —2RA T MNE o ool ww sife Fife e 4
4 7

1~ tanA .tanB

A+B=45%|
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e
+
IftanA= > and tanB= 1 , using the formula tan (A+B) = _fanA T tanB verify that A+ B =45°.
4 7 1~ tanA .tanB
fag =ifse .
4 (cos2 60° + sin? 30°) — 3 (cos2 45° — tan2 45°) = ~
2
Prove that :
4 (cos? 60° + sin? 30°) — 3 (cos? 45° —tan2 45°) =
2
11 s 1 ' 9 s YR’ (Gl IRARAT S | Sgfere a9 aR @i |
ot 50-55 |(55-60 |60-65 |65-70 |70-75 |75-80 -~
IR @ | 2 8 12 24 38 16
RO Q, T o} F1 SIS
Change the following distribution to a “more than type” distribution and then draw its ogive.
Class : 50 -55 | 55-60 60 - 65 65-70 70-75 75 - 80
Frequency: |2 8 12 24 38 16
Also, find the median from the ogive.
Th U1 | h1ad ATl i 3T & [ HS] 1 <f-eh Ted 3 (3. §) @ Hifog |
A ama (7. H) <100 | <200 | <300 |<400 |<3500
SRR T 12 28 34 41 50
Calculate the average daily income (in Rs.) of the following data about men working in a company :
Daily income (inRs.) | <100 | <200 | <300 | <400 | <500
Number of men 12 28 34 41 50

ok ok % ok ok




